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X 2@ty xS S5 HE
(eke] @ o, %)
T = 2018 2019 2020 20214 20224
HH| X-SA 1178353 | 1,190,154 | 1,219,196 = 1,211,095 | 1,230,183
eHFTet RhSAt 27,881 37,344 47,632 63,449 84,394
sfolgals | 21,274 26,026 34,936 46,946 59,676
sate
x| o 6,605 11,313 12,630 16,185 24,161
Kt 2 5 66 318 557
ey XSkt
SETIEYOA 24 3.1 39 5.2 6.9
X LA REER 2FHSHY XpSA Y= AU U S HE
T = A 2020' 2021 20223
A 31.6% / 424Lh | 9.0% / 1102CH | 10.7%f / 1332LH | 11.9Y / 1812+
HetE 1 103% 7 2452 | 339 / 22T | 399 / 76RITH | 319 / 1072
ULEIER 2139 7 179TLH | 579 / 480HCH | 689 / 57RHC | 889 / 74RtCH
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(01Xt 1,672, AlH| 571)

(=)
N 3 | (H2Al QIX} 295
24 22K USsE H12h
T = B o= AL
2 HE ~ OFAl Aol ~ 2
5 o B=35~50m L=7,250m B=35~60m L=10,440m
- (L 3IA) (E195,304m, m2F 7HA)
Apeiolar | 1997. 10 22. ~ 2002. 8. 31. 2007. 12. 24. ~ 2013. 5. 15.
= (44 102) (5 49)
AFeLH EAQIH| 2,2432 & EAQIH| 4,7922 &
= (917t 3.504, = 413, Al 855)

(]
coigial | T = oea 0y %%g fE=2 Al - F A2+ 2 F(MRG)
X = (%g+om+$o=|u|) S0l |2t © 2013. 6. 15. ~ 2018. 6. 14.(54)
- J|2 12, 7. 1. ~ 206, 8. 31.(154)
HMP2HAE 600, CHE 800) HP2H(AE 1,700, CHE2,400)
SH2 A (AE 300, CHE 400) AOloTS (AE 1,000, CHE 1,500)
D2(AE 300, CHE 400) IIs-H2(A8 600, CHE 900)
EM2
x| 9|2t -2002. 9. 1. ~ 2026. 8. 31.(24) |-2013. 6. 15. ~ 2039. 6. 14.(264)
A = 38,6820/ (120 =) 96,0800H /2 (122 =)
Szt
R 47,5480/ (224 JIE) 50,2720H/& (224 JIE)
= °=< % HE Yl 122.92% ¥ HEHH| 52.32%
139242 (194 J|IE) 1942121 (1 194d DI &)
SHE 1324 (20 J|=) 19192 (208 DIE)
3 o (214 JI=E) 1992121 (218 DJ|=E)
84942 (22 J|=E) 2032121 ("22d DJ|IE)
2 I A HRsSecsT2(F) R8T 2(F)




